WARMUP
Solve, bj -Fad‘br"né'-

) x“-29% +100= 0 [z o
X-25=0 x-4=0

2) X=11x+18=0
x=4 x=2

3) X -X=2=0
xe2 | X431
y) 6x*-Tx+]=0

=

T

XI\| X" | -1x
@ -bx | |
(ex-1) (x-1) =0

bx-1=0_ X-[=0
N T
x——é X=|

Mt are Quadvehe in T:orm
L -Tf-8=0
AW ug i
o £- -1 -0

,\«)1"; Az x
L (xz-z) (xzﬂ) =0

_Egquabions




x-8=0
x*= 8 X =
x= ] - 22)2 X=*J-1 =2
=5
*oJal #
Y £
Xl X "5)(2 + 6 -0
Let A= x2 6
AZZKq =2 ';
AZ-SA +6 =0 =
(A~z)(A-3) =0 G“’Z'“"L\
=X - Tx=8
x=2) (x*-3) = J
(.2 )( ) 0 )(2-7)('3:—0
X-2=0 xX[=3=10 K-iats
Xi=2 "3
edi i 2(d =¢l= 0
|
A= Jx
A= X
A= ZAS ST+ O

(A+2)(A-4) =0
(x+2)(Ix ~4%) =0

Ko =y
N X = 16

FoR SGUARE RooT
PROBLEMS YoU MUST
CHeck YouR ANSWERS

g-2{9 -8 16-2J16 -8
q=22-8 16 -24 &
4-y-g#0  16-g-&-0



WoRK ™ f) Ax=HECIE o
A= lx

|;7‘13/3/0] A T 1A IBTTC
=)

-36
G 2@
29

(A-g) (2A43) = O

o\("/\"o (J;..(,) (2Jx + 3)—' 0
IL%\,"\ ,,ﬁ'\% K -6:=0 ZJJ’_ ;(‘ yl
o [EA TNREL IR P
5
A g

1L Gmd Combila
__> F

2
q)  (x42) -Z(X;l)'ﬂl 0 77 (eaber) - 2x-4 -1

A=kt
At -z2A -2 =0






